EEAEORT, (FEROHARE)

~

M z?°4+(a+b)z+ab=(x+a)(x+b)
2 x2?42ax+a® = (x+a)?
B8 2*—2ax+d® = (x—a)?
@) x’—a’ = (x+a)(x—a)

gbb60166 A= &=t



r’+6x+9 ZERBMAPBLEZI W #13 ([3]0)

gbb60166 A= &=t



r’+6x+9 ZERBMAPBLEZI W #13 ([3]0)

FERROBBIEE L
AR 2 z?+42ax+a®>=(x+a)?
ZES ! EEDNPNTVBEH

gbb60166 A= &=t



x’+6x+9 ZRMABMUBI WL #1330
PEROHBEIEZLE L
AR 2 z?+42ax+a®>=(x+a)?
ZES 1 EEDONTVLSEH
343=16, 3X3=49

EEZTHMNET DI EHTE S,
r’+6x+9 = (x+3)(x+3)
= (x4+3)?

gbb60166 A= &=t



x?—14x+49 ZEBOBRULE I L

gbb60166 A= &=t



x?—14x+49 ZEBOBRULE I L

FERROBBIEL L
AR B 22—2azx+a’=(x—a)’
ZES ! EEDNPNTVBEH

gbb60166 A= &=t



r?—14x+49 ZEEBSB LRI L
PEROHBEIEZLE L

AR B 22—2azx+a’=(x—a)’
ZES 1 EEDONTVLSEH
() +(=T)=—14, (=T)x(=7)=+49

EEZTRBNHEITSHILEHTES,
x?—14x+49 = (x—T7)(x—7T)
= (CU—7)2

gbb60166 A= &=t



r?—25 ZERFHELEZ L

gbb60166 A=t EES]



r?—25 ZERFHELEZ L

PEROBEEL L
AR @ z2—a’=(x+a)(z—a)
ZES ! EEDMNTVSED

gbb60166 A=t EES]



xr’—25 ZEEAPMRLEZ L)

HERODHPEL L
AR @ z2—a’=(x+a)(z—a)

ZES ! EEHONTVSEH

xr?—25 = x°40x—25
EEZXT 54(—5)=0, 5x(=5)=-25
ERZE

x?—25=(x+5)(x—>5)

gbb60166 A=t EES]



AR M EIFTRIFS !

WAWBRLGBARZSHRAICEWVWCRES LGS, £h
ICHBUTC &EFBWD, BELFFLHRAR

M/ r’+(a+b)x+ab= (z+a)(x+b)

ZUoDDVYRY—UT. ZDIATEY 5FHE
EIFICERT BEEBRARNEERS &K

gbb60166 AT EES]



